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The greatness of Sher Shah Suri
lies in his

(1) Victories against Humayun
(2) Superior Generalship

(3) Administrative Reforms ./

(4) Secular attitude

The powers that contested for
supremacy with the Rashtrakutas
in North India were the

(1) Palas and Pratiahras ./

(2) Pratiharas and Parmars

(3) Vengi
Pallavas

Chalukyas  and

(4) Palas and Pallavas

In the third battle of Panipat,
Marathas were defeated by the

(1) Mughals

(2) Afghans /

(3) English

(4) Ruhellas

3-A)

Who was the first Muslim ruler to
formulate the theory of kinship
similar to the theory of divine
right of the kings ?

(1) Aibak
(2) [Htutmish

(3) Balban

(4) Alauddin

Painting of Mughal period was at
its prime during the reign of

(1) Jehangir

(2) Shahjahan
(3) Aurangzeb

(4) Akbar

The remains of Vijaynagar
Empire can be found in

(1) Bijapur
(2) Golconda

(3) Hampi

(4) Baroda
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Some of the Indian school of
thought and their exponents have
been mentioned here :

A. Pakshilasvamin Vatsyayan -
Nyaya

B. Prashastapada - Vaisheshika

C. Vyasa- Yoga

D. Shankaracharya - Vedanta

Which of the
correct ?

following is

Select from the codes below :
(1) AandB

(2) BandC

(3) CandD

4) A/B,CandD

Who of the following attended all
three Round Table Conferences ?

(1) Dr.BR Ambedkar ,/
(2) MM Malviya

(3) Vallabhbhai Patel

(4) None of the above

Who was the president of the
congress at the time of moderate
extremist split ?

(1) Pherozsha Mehta

(2) Rashbehari Ghosh /
(3) Madan Mohan Malviya
(4) Dinshaw Wacha

10.

11.

(5-A)

When did Muslim League adopt
self governance as one of its
objectives ?

(1) 1919
(2) 1911
3) 1912 v
() 1920

Some of the important initiatives
that contributed to the
strengthening of Indian National
Movement are as follows :

A. Dandi March - Mahatma

Gandhi

B. Poorna Swaraj Resolution at
Lahore Session of the
Congress — JL Nehru

C. Bardoli Andolan - Khan
Abdul Gaffar Khan
D. Red Shirts movement -

Sardar Patel

Which of the above is correct ?
Select the code from the
following options :

(1) Only A

(2) AandB Vv
(3) OnlyC

(4 A/BandC
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On September 20, 1932 Mahatma
Gandhi began a fast unto death in
Yervada Jail against

(1) British repression of the
Satyagrahis

(2) Violation of the Gandhi-
Irwin pact

(3) Granting of Communal

Award by Ramsay Mac

Donald

(4) Communal riots in Calcutta

Some of the most significant

writings of modern India are

mentioned here:

A. Sachin Sanyal - Bandi
Jeevan

B. Sarat Chandra Chatterji —
Pather Dabi

C. Bhagat Singh — Why | am an
atheist

D. Jotiba Phule — Ghulam Giri

Which of the above is correct ?
Select the correct code from the
following options :

(1) AandB
(2) BandD
(3) CandB
(4) All of the above ,/

14.

15.

(7-A)

Quit  India
adopted by
Congress at :

Movement
Indian  National

was

(1) Bombay ./

(2) Ahmedabad
(3) Pune

(4) Kolkata

Choose the newspaper weeklies
that corresponded actually to their
founders :

(A) New India Commonwealth :
Annie Besant

(B) Comrade
Muhammad Ali

Maulana

(C) Sanjivani : K K Mehta

(D) Vanguard of Indian

Independence : M N Roy

Which of the above given pairs is

correct ? Select the correct

options :

(1) A,BandC
(2) A,CandD
(3) BandD

(4) All of the above .,




16. 1907 3 AT" swFT [de ©B/TD, 19. =I"ok, w9E INTY ooxNY

OOBYT WTFRIT FPODY DTN EReTR TR
BROTITY O30T 9 (A) WITTIeS
(1) oz 33 (B) =z womee

C) T3
(2) @oer. o,

(D) ooy

(3) mworo® wze aom HeOTINIY  HORBNIT PR
ROWOTI, TR eRVW  BOTEINE
(4) NAF.R.2383I2E TIROR SO,

(1) (A (B), (C), (D)
(2 (©), (D), (A), (B)
3 (D) A, (B), (C)
4 (B), (C), (A), (D) (GRACE)

17. ﬁég"g) w%@ﬁ TOCINT m?%
BTIBYONY 53@3&5 IO TP 2

(1) owd

20. =8 Uo&éﬁ#ai{l aﬁd@gﬁoﬁa QOE

2) TOWFS
@ = v IDTY ek

(3) =& (A) #e3s
(4) Zezze (B) wveozes
(C) wwT®

(D) =z wored

18. wof dynd HInom BAIeD 7 FeOSYRYY  TOIDIT AT
ROWOTI, FTYR eRTVW  FOTEINE
(1) =92 Bynw o oo
(2) 2eond WA 1) (@A), (D), (B), (C)
(3) ~ond BuR® v @B, ©.©)
= 3) (A), (C), (B), (D)
4 @mwmeﬁé e33R0 (4) (B), (C), (A), (D) (GRACE)

145 (8- A)



16.

17.

18.

145

Who committed the most daring
murder of Sir Curzon Wylie in
1907 at a public meeting in
London ?

(1) B N Datta

(2) ML Dhingra

(3) Sardar Ajit Singh

(4) S C Chatterjee

Which river rises in the Aravalis
and flows into the Gulf of
Canbay ?

(1) Luni

(2) Sabarmati ./

(3) Sahibi

(4) Netravati

What is the other name of

Cardamom Hills ?
(1) Palni Hills
(2) Nilgiri Hills

(3) Yelagiri Hills /

(4) Annamalai Hills

19.

20.

(9-A)

Arrange the states in descending
order in terms of population :

A. Uttar Pradesh

B. West Bengal

C. Madhya Pradesh
D. Maharashtra

Which of the following code is
correct ?

(1) AB,C,D
(2) C,D,A B
(3) D,A B,C
(4) B,C,A, D (GR_ACE)

Arrange the states in descending
order in terms of the density of
population :

A. Kerala
B. Uttar Pradesh
C. Bihar

D. West Bengal

Which of the following code is
correct ?

(1) AD,B,C
2) B,A,C,D
(3) A C,B,D
(4) B,C,A,D (GRACE)
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Consider the following

statements :

A. Rice is the dominant grain

crop of India

B. India is one of the leading

exporters of rice.

Which of the above statement/

statements is/are true?

(1) Aonly

(2) Bonly
(3) BothAandB

(4) Neither A nor B

Which animal has been declared
as the National Aquatic Animal

of India ?

(1) Ridley’s Turtle
(2) Blue Whale
(3) Ghariyal

(4) Ganga Dolphin /

23.

24,

25,

(11-A)

IR 20 and Ratna are
important varieties of

two

(1) Wheat
(2) Bajra
(3) Paddy
(4) Jowar

Diamond is chemically

(1) A  mixture of
carbonates

metal

(2) Carbon /
(3) A pure form of sand

(4) A mixture of Calcium and
Magnesium Phosphates

Consider the following elements

A. Ca
B. Ge
C. Si
D. C

Carborundum is a compound of
(1) AandB

(2) AandC

(3 CandD Vv

(4) BandC
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Consider the
compounds

following

A. Benzene

B. Carbon tetrachloride
C. Sodium Carbonate
D. Trichloroethylene

Which of the above is/are used as
dry cleaning chemicals ?

(1) Aonly
(2) Bonly
(3) A,BandD v

(4) All of the above

The acid present in lemons and
oranges is :

(1) Acetic Acid

(2) Hydrochloric Acid
(3) Citric Acid
(4) Oxalic Acid

Chemically baking soda is
(1) Calcium Phosphate
(2) Sodium Bicarbonate

(3) Sodium Chloride ./

(4) Baker’s yeast

29.

30.

31.

(13- A)

The gas used in fire extinguishers
IS :

(1) Nitrogen
(2) Sulphur Dioxide
(3) Carbon Dioxide /

(4) Hydrogen

Fish can survive inside a frozen
lake because

(1) Fish are warm blooded
animals

(2) Fish hibernate in the ice

(3) Water near the bottom does

not freeze

(4) Ice is a good conductor of
heat.

By what process is heat
transmitted from the filament of
an evacuated electric bulb to the
glass ?

(1) Conduction
(2) Convection

(3) Radiation ./

(4) Heat cannot be transmitted
through vacuum
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Hot coffee IS poured
simultaneously in four metallic
tumblers painted with different
types of paints. After sometime
the coffee would be found coldest
in the tumbler painted with:

(1) Rough White

(2) Shining White

(3) Rough Black v

(4) Shining Black

The sun and moon appear
elliptical near the horizon due to :
(1) Optical Illusion

(2) Interference

(3) Refraction ./

(4) Actual change in shapes

Lights of different colours are
arranged below in order of
increasing wavelengths :

A. Violet, Indigo, Blue

B. Green, Orange, Red

C. Red, Green, Indigo

D. Blue, Green, Yellow

Which of the above in proper
sequence ? Select the correct
code from the options given
below :

(1) Aonly

(2) AandB

(3) B,CandD

4 A BandD Vv

(15

35.

36.

37.

-A)

Which part of the camera is
analogous to the retina in the
human eye ?

(1) Lens
(2) Film
(3) Aperture

(4) Shutter

The
obtained from

antibiotic  penicillin  is

(1) A bacterium
(2) Fungus ./
(3) Synthetic means

(4) Virus infected Cells

Which one of the following
animals is not a mammal ?

(1) Sea-cow

(2) Sea-horse

(3) Sea-lion

(4) River horse
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A powerful eye irritant present in
the smog is

(1) Ozone
(2) Nitric oxide

(3) Peroxyacetyl Nitrate /

(4) Sulphur Dioxide

A man of AB blood group
requires blood transfusion. Who
among the following could
donate blood to him ?

A. Wife whose blood group is
A

B. Son whose blood group is B
C. Friend with blood Group O

D. Daughter with Blood Group
AB

Select the code for the correct
options :

(1) OnlyB
(2) BandD
(3) A,BandD

(4) All of the above /

40. Which one of the proteolytic

41.

42.

(17 - A)

enzymes aiding the initial
digestion of milk in calves is
absent in the digestive tract of
man ?

(1) Pepsin
(2) Rennin
(3) Trypsin

(4) None of the above

The slowest animal because of its
low metabolic rate is :

(1) Tortoise
(2) Turtle
(3) Sloth

(4) Armadillo

The most commonly used
rodenticide to prevent rats from
causing crop damage is :

(1) Zinc Phosphate
(2) Zinc phosphite
(3) Zinc Phosphine

(4) Zinc Phosphide
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(3) =oo (B) emspeoniar (1) doeoy
(4) aesae v © mm@)om@xw (1) =ea=
(D) SN (1V) o373
(V) ewosdp—s
45, éb%ﬁoﬁ@oﬁa RBRTO A0 RTTY® 2307
lelevepln YOZTNEI, Fose3Iny
(1) = T A e DROF SR
A B C D
2 un g
ﬂV @ m v nov
(3) o wootF @ Il Vv IV 1 v
@ v oIV o
(4) wo. 3eFF w0 e @ v ol
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44,

45.
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First talkie film in India is :
(1) Raja Harishcnadra
(2) Pundalika

(3) AlamAra ,

(4) Aan

Cortes is the parliament of :
(1) Poland
(2) Sweden

(3) Iran

(4) Spain ,

The first Secretary General of UN
was :

(1) Dag Hammarskjoeld

(2) Trygve Lie v

(3) U Thant

(4) Dr Kurt Waldheim

(19 - A)

46. At which of the following places

Kumbh Mela is held :

A. Nasik

B. Haridwar

C. Prayag

D. Ujjain

Select the correct code from the
options below :

(1) AandB

(2) B,CandD

(3) BandD

(4) Allof the above .,

47. Match the following :

Religions Sacred Books
A. Judaism |. Sutras
B. Taoism II. Torah

C. Zoroastrianism Il11.Hadis
D. Buddhism IV.Avesta
V. Tao-te ching

Select the correct code from the

following :

A B C D
@ v v
@ 1 v Iv | v
@) m v v Il
@ 1 v



48. Droba 2BoWD. 50. wemomTerT T TJAOH BT

a’odm;@éda.
@omm%@o&: 3@03_3):@?571%
moBneh (1) .o, BFrT
(A) EU (1) e (2) TQoeETrRRRoT
(B) ADB (I1) Scdnes, (3) 2eDe Beawo Toed s
(C) ASEAN (1) g (4) e BT TeR
(D) INTERPOL  (IV) mo3s
(V) ooz Ol. 00 @omT FoWFS AYT
Zoo3RE  eUITRYR,  RogeInY (1) Sorendd

VROT 3D,

2) BRI
A B C D @ v

@ m ooV ol (3) T
@ IV Il v W sz
@ 1wy E—
@ IV Vv 1o

52. WABRLBNRCNNBTD 0T ATT

49. ROET BETO ANVIFT  wHTS BYOD HITH
o3P ?
(1) o
(1) =r=eow
(2) wooar
(2) 33y —
(3) =3F
(3) =TT Jeaor®
(4) =T T Hweok (4) s

145 (20 - A)
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49.
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Match the following :

International  Headquarters
Organisations
A. EU I.  Manila
B. ADB I1. Lyons
C. ASEAN [11. Brussels
D. INTERPOL IV. Jakarta
V. London

Select the correct code from the
following

A B C D
@ u v o
@IV I n v
@u 1wV n v
@IV vV ol

The first Governor General of
India was:

(1) Cornwallis
(2) Wellesley

(3) Warren Hastings ./

(4) Sir John Shore

50.

51,

52,

1-A)

The first recipient of Dada Saheb

Phalke Award was
(1) B N Sarkar
(2) Prithvi Raj Kapoor

(3) Mrs Devika Rani

(4) Mrs Kanan Devi

Heavy vehicle factory is located

at:

(1) Bangalore
(2) Kolakta
(3) Hyderabad

(4) Avadi v

Mesopotamia is the old name of:
(1) Iran

(2) Iraq v

(3) Turkey

(4) Egypt
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BRODY W3OND -

55.

3de3ned TOZTOR
A 83033 [IEAY

) ~
B aﬁ@uo:bo | BFSENOIEewp!
C 3o028nel03m Il dades
D ﬁé@oﬁ IV e

V Zez0 - IF

TOFEBNY  TNRO3I RO OITOTTR),
SR,

A B CcC D
@ m 1 v ooy 56.
@ v i
@ IV VvV 1o
@ 1oV oVl

RO WIOND :—
O3NVITT mﬂ@neéo

A UNIDO I
B FAO I

C WHO Il

D UNESCO v

\Y

TOBZCING  T[BROF

&0A.

A B C
m v
@ VvV 1l IV
@) IV o
@ VvV IV

1)

eoq, MmN
NN
D0
WRE

o ¥nIo)
57.

@033@1

OCIRIT,

D
I
Il
\Y

n v

(22 - A)

o330 RIAIeW TOWOD e
méo:’mae‘r Q9

(1) Brekn S5

(2)

Q) =@y Vv

(4) ae

3RBA0N0 Q0 TE0D
RYOBHD BY

(1) 3dreo

(2) oomz

(3) o=

4) SRLIPTE

mﬁg@)&aﬁ FRE BIBY I
LONYD 2

(1) 22

2) 24 v

3) 21

(4) 26
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Match the following :

Countries Capital
A. Austria I. Brussels
B. Belgium 1l. Nicosia

C. Combodia IllI. Vienna

D. Cyprus IV. Prague

V. Phnom-Penh

Select the correct code from the

following

A B C D
@m 1 v v
2 Iv 111
3)Iv VvV 11
4) 1u v v Il

Match the following :
UNO Agencies Headquarters

A. UNIDO I. Geneva
B. FAO Il. Paris
C. WHO I11. Berne
D. UNESCO IV. Rome
V. Vienna

Select the correct code from the
following

A B C D
@ m v oo
2 v 11 1v
) Iv 1 n v
4 Vv v 1 1 y

55.

56.

S7.

(23 - A)

New York is located on bank of
which river

(1) Potomac
(2) Fibe

(3) Hudson v

(4) Spree

Colosseum is famous site located
at

(1) Rome
(2) London
(3) Paris

(4) New York

How many spokes are there in a
Dharma Chakra of the national
flag ?

1) 22

(2 24 v

3) 21

(4) 26
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o033 BDRTO
NTIRTBOITNE DRE
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61.

DY deemT  TIORE 5@@%
BOWORATOE FPNTPYNYY 0P
003N BRODHDY

(1) =9es - Tewpower®

(2) modmy, — wwRo

(3) =omFs mWNRT - 8¢ Fwo

(4) Bow — FPTST

62. DRODR W3O

(24 - A)

Je3ned FBAND
A Beme I Salelecy
B @, Il oo
C ==Fd Il dcdeer
D aoea® IV Qeooe
V  oSdee
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BVROT S0A.

A B C D
1) n v m g
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India’s first satellite Aryabhatta
was launched in

(1) 1972
(2) 1976

(3) 1974

4) 1975 v

Which of the
correctly matched with regard to

following is

Thermal Power projects ?
(1) Korba-UP

(2) Ramagundam — MP
(3) Talcher — AP

(4) Kawas - Gujarat /

Tamasha is a robust form of folk
theatre in :

(1) Karnataka
(2) Gujarat

(3) Maharashtra

(4) Rajasthan

61.

62.

(25 - A)

Which of the following is not
correctly matched with regard to
Project Tiger reserves ?

(1) Valmiki — Hazaribagh
(2) Sariska — Alwar
(3) Nagarjunasagar — Srisailam

(4) Pench - Garhwal v

Match the following :

Countries Currencies

A. China I. Pound

B. Egypt Il. Yuan

C. Germany lll. Rial

D. lIran IV. Dinar
V. Euro

Select the correct code from the
following

A B C D
@n vy
@ v v
@ onoavo
@ n v ol
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B FINTYNEY IR  WFES
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(3) wwmer s

(4) ZeJex

TooFE3d xof\e@’%é 8 IINTIRTY
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(1) =z A
(2) =onoew
() Hepod v

(4) =0BER DedEe
-0 wh

BT0BT @3?503 d@cémd
WReOONT® FRY AP A

(1) ©dF Foosws ROMI

(2) 33w
(3) =

(4) sze

66.

67.

68.

(26 - A)

TFTTRITT [T BRI 9
1) o

2) =ory

B) =3 o

(4) w3

eaef’)ag BBV  [RTO
3@@@@ ag

3,01

(1) 3gwe
(2) oo
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63. Which of the following is not a

64.

65.

145

member of SAARC
(1) Bhutan

(2) Bangladesh
(3) Burma

(4) Maldives

Who of the following is not
associated with Carnatic Music

(1) Shyama Shashtri
(2) Tyagaraja

(3) Bhatkahnde ./

(4) Muthuswami Dikshitar

Lake Superior, the largest
freshwater lake in the world is
located in :

(1) USA v
(2) Canada
(3) Russia

(4) Brazil

66.

67.

68.

27 -A)

The brightest planet is :
(1) Jupiter

(2) Mars

(3) Venus v

(4) Mercury

The first summit of non Alligned
Movement (NAM) was held at :

(1) Cairo
(2) Lusaka

(3) Belgrade

(4) New Delhi

The longest dam in India is :
(1) Bhakra Dam
(2) Nagarjunasagar Dam

(3) Hirakud Dam v

(4) Kosi Dam



69.

70.

71.

145

TNToZIWoT KO TowwA B3eFE
83 DORTYT
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eveplelifewoy LTOTH) QT
TOWORAT
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2) o TR Wures
(3) BaERe BNZRID

4 VT HYT v

712. IRAT®

73.

74.

(28 - A)

AENewr
363@633@ ag

a'domém')mﬂo

(1) =vdww
(2) wwedcdne
(3) =sozer

(4) I=SBRO

83 FINIRTY Slcplegtolelaly
BOWORAYTRTL 30T ?

(1) wno® DFRe
(2) sazozTt

(3) WWT PRPRQET BT/

(4) oRT wdwz®

DFIWIT YL TOETPOONT e
QYT

(1) e
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69. The oldest church (St Thomas 72. The first Asian games were held

Church) is located in the state of at :
(1) Goa (1) Manila
(2) Kerala (2) Tokyo
(3) West Bengal (3) Jakarta
(4) Assam (4) New Delhi
70. Montreal Protocol is related to : 73. Who of the following is not

associated with Sitar ?
(1) Ozone depletion /

(1) Amir Khusrau

(2) Nuclear weapons
(2) Ravi Shankar

(3) Landmines
(3) Ustad Alaudin khan

(4) Sea beds
(4) Amjad Ali Khan

71. The book ‘Mein Kampf® is | 74 The seat of the Madhya Pradesh

written by High Court is located at :
(1) Alexander the Great (1) Bhopal

(2) Sir Winston Churchill (2) Jabalpur v

(3) Benito Mussolini (3) Gwalior

(4) Adolf Hitler ./ (4) Indore

145 (29 - A)
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77.
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A. Tamil Nadu |I.

C. Kerala

D. Assam

Match the following :
States Festivals

Bhageli Bihu

B. West Bengal Il. Onam

1. Sarhul
IV. Pongal
V. Dol Purnima

Select the correct code from the
following

A B C D
@ u v vl
@ Iv i n 1 v
@ m 1 v v
@IV Vv 1o
Which of the following is

medium range multi
surface to air missile ?

target

(1) Trishul
(2) Prithvi
(3) Agni

(4) Akash v

77. Which

78.

79.

(31-A)

state government has
launched the Annapurna Rasoi
Scheme  for  underprivileged
People ?

(1) Andhra Pradesh
(2) Gujarat
(3) Karnataka

(4) Rajasthan ./

Which international personality
has topped the 2016 World’s
most powerful people list of
Forbes ?

(1) Vladimir Putin

(2) Donald Trump v

(3) Narendra Modi

(4) Angela Markel

Which Indian batswomen has
been named in the ICC Women’s
team of the year 2016 ?

(1) Vellaswamy Vanitha
(2) Veda Krishnamurthy

(3) Smriti Mandhana
(4) Mithali Raj
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Which bollywood personality has
been appointed as UNICEF’s
newest Global Goodwill
Ambassador ?

(1) Priyanaka Chopra
(2) Dipika Padukone

(3) Ranbir Kapoor

(4) Amitabh Bachchan

First five year plan adopted
which model ?

(1) Lewis-Fei Model

(2) Mahalanobis Model

(3) Harrod Domar Model
(4) Keynesian Model

This type of unemployment can
occur even in a situation of full
employment :

(1) Structural unemployment

(2) Functional Unemployment
(3) Cyclical Unemployment

(4) Disguised Unemployment /

The country which had the first
official family planning
programme was :

(1) USA

(2) India ./

(3) Sweden

(4) China
(33

84. Use of energy requirements

85.

86.

-A)

(Calorie) as a measure of poverty
in India was made for the first
time by :

(1) Amartya Sen

(2) Dandekar and Rath /

(3) Planning Comission

(4) TN Srinivasan

The power to impose reasonable
restrictions on the fundamental
rights of Indian citizens rests
with :

(1) The Supreme Court

(2) The Parliament ./

(3) The President

(4) None of the Above

The scope of right to life and
personal liberty (Article 21)
includes

(1) Right to Bonus

(2) Right to Good health /

(3) Right to Housing
(4) Right to Work



87.

88.

89.

90.

145

RO TONTON®) DROLRI
TIEBNY, 7 BIRERTTN
B[NEFBORD, ©TT /N ARPHD
Fem®

(1) 3 I=RFnsd

(2) 4 IBAFRD

(3) 5 I=RFnsd

(4) 6 I_AFRd

ooz, Jedod  JTeF3T  IINW
RwdesseoTyN FSNTPNYY 350
DR,TPOONTZ TOTD
AN TS,

(1) =Fpery, F,0300D

(2) ov3, T

(3) 133 2 288®

(4) BcdT BRYTHL ©¥Q

8 ZYNIRNTY  WDZTON DT
ORPNY ToONE ARF AT @c%gda
o3 ?

(1) =o: ooddeoT TFT®

(2) wo: oF TopRT
jac)

(3) mo: 3T IS

(4) 1308 2 28@R

ﬁmmw%mﬁ ofmc;p TRCRD
Slokp) 5008 QEDF OB/,
FroeaBwo CIRD AFIHL ?

1) ®33> v

(2) =moxzzy

3) =8= Fom®

(4) Tz Dog

91.

92.

93.

(34 - A)

PR0BTY  BEATOAT DVBLRTOIN
QRO0T d@@esax%céagd :

(1) Sz odnwd
(2) BRI DO

(3) Rewzme Vv

(4) DewBod wgIw

emmzségd DTOTORHPOZN :

(1) w5z TROOTDT
OBHONT, TRODT.

(2) 5 mIFAD

3) ©3E3c Qe 00 2oees
Sed &)

@weoaémﬁd.‘

(4) 6 mIIFRL

DANONT BIOT OLF méoasﬁ
BOWORATOE  FIINTPYNYY 350
T3 A% 9

(1) 2> wecde, 39,08

(2) 2w 23FoFowom  (CIVRT)
TDOSREVBOLIT.

(3) DT o8B wHES / ABOORT

(4) 2 fFE BeexIneR =[eg,
O JeRWORYW.



87.

88.

89.

90.

145

The original Indian constitution
Classified the fundamental rights
into seven categories but now
there are only

(1) 3 categories

(2) 4 categories

(3) 5 categories

(4) 6 categories /

Which one of the following
courts can a citizen move for the
enforcement of Directive
Principles of State Policy ?

(1) The Supreme Court

(2) The High Court

(3) Both land?2

(4) None of the above v

Which one of the following
presidents held office for two
consecutive terms ?

(1) Dr Rajendra Prasad v

(2) Dr S Radhakrishnan

(3) Dr Zakir Hussain

(4) Both (1) and (2)

Who is legally competent to
declare war or conclude peace ?
(1) The President ./

(2) The Parliament

(3) The Council of Ministers

(4) Prime Minister

91.

92,

93.

(35 - A)

In India Money bill is certified
by :
(1) Prime Minister

(2) Finance Minister

(3) Speaker

(4) Chairman of the
House

Upper

The tenure of the Vice-President
IS :

(1) Co-terminus with that of the
President

(2) Fiveyears

(3) Dependent on the will of the
President

(4) Sixyears

Which  of the following
statements is true about Asian
Development Bank ?

(1) Itisa Commercial Bank
(2) It was sponsored by UN
(3) It is a subsidiary of World

Bank

(4) It gives loans only for
housing projects
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TRIPS -  Trade Related
Intellectual Property Rights and
TRIMS - Trade Related
Investment Measures are

associated with :

(1) Preston Proposal

(2) Dunkel Proposal
(3) Chelliah Committee
(4) None of these

The Detroit region in United
States is famous for :

(1) Iron and Steel

(2) Ship Building

(3) Automobiles /

(4) Petro Chemicals

The three types of Proclamations
of Emergency made by the
President have to be placed
before each house of Parliament
for its approval ?

(1) Within one month

(2) Within two months

(3) Within six months

(4) W.ithin one month in case of

national emergency and

within two months in case of

emergency due to break

down of  constitutional

machinery and financial

emergency.

97.

98.

99.

100.

(37-A)

The Gulbarga  fort originally
built by a Hindu Chieftain :

(1) Raja Gulchand v
(2) Raja Venkatappa Nayak

(3) Raja Sadashivayya
(4) None of the above

Famous book Isma-Ul-Israr is
considered an authority only on :

(1) Sufism

(2) Quran

(3) Bhaktism

(4) None of the above

The rate at which Reserve Bank
of India (RBI) discounts bills of
exchange is known as :

(1) Bank Rate

(2) CRR

(3) Repo Rate

(4) Reverse Repo Rate

Finance Commission is appointed
by the President under Article :

(1) 256 of the Constitution
(2) 293 of the Constitution
(3) 356 of the Constitution
(4) 280 of the Constitution ./
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